

10/03/2025

Vendor Ranking

Page 1 of 1

Letting: 04251003

October 03, 2025 10:30 AM Call Order: 004

Contract: E4Y44-R0

District: District 4

Counties: BROWARD

Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

Project(s): 44417827201 (*)

Contract Desc: BROWARD COUNTY GUARDRAIL & ATTENUATOR REPAIR & FENCE

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	COMPLETE HIGHWAY IMPROVEMENT IN	Responsive	Winning bid	\$204,027.00	100.00%
2	SOUTHEAST HIGHWAY GUARDRAIL & ATTENUATORS, LLC	Responsive	Non-Winning Bid	\$212,141.00	103.98%
3	C. SLAGTER CONSTRUCTION, INC.	Responsive	Non-Winning Bid	\$287,010.00	140.67%
4	HIGHSTYLE ENGINEERING & CONSTRUCTION SERVICES LLC	Responsive	Non-Winning Bid	\$541,805.00	265.56%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

NOTICE TO INTENT TO AWARD WAS POSTED: BEGIN DATE: 10/28/25 BEGIN TIME: 10:30 AM

END DATE: 10/31/25 END TIME: 10:30 AM

NOTE: The award amount and contract performance bond shall be based on the Department's advertised estimate amount of \$ 250,000.00 and not the contractor's total.

bid





Tabulation of Bids

Page 1 of 17

Letting: 04251003 October 03, 2025 **Call Order:** 004 **Contract:** E4Y44-R0

District: District 4 Counties: BROWARD Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

Project(s): 44417827201 (*)

Contract Descr: BROWARD COUNTY GUARDRAIL & ATTENUATOR REPAIR & FENCE

The work under this Contract consists of the removal and repair of damaged or destroyed sections of guardrail and/or fencing. The work may also include modifications and additions needed to bring existing sections into compliance with current standards and the installation of new sections of guardrail and/or fencing. Additionally, the contract includes providing labor, materials, equipment, and incidentals necessary to inspect, clean, repair, reset, relocate, or replace crash cushions at various locations. All work will be conducted on the Arterial/Interstate System.

•PRE-QUALIFIED: Contractor does not need to be pre-qualified.

•PERFORMANCE BOND: A Contract / Performance bond is required for this project.

•ADVERTISED ESTIMATE: The award amount and contract performance bond shall be based on the Department's advertised estimate amount of \$250.000.00 and not the contractor's bid total.

PLEASE READ STANDARD SPECIFICATIONS FOR ROAD AND BRIDGE CONSTRUCTION FY 2025-26 (SECTION 7-13) FOR INSURANCE LIMITS.

Line No / Item ID Alter	rnate Quantity Units	(1) COMPLET IMPROVE		(2) SOUTHEAS GUARD	RAIL &	· · · · · · · · · · · · · · · · · · ·	LAGTER CTION, INC.
() indicates item is bid as Lump S		Unit Price	Ext Amount	ATTENUAT Unit Price	ORS, LLC Ext Amount	Unit Price	Ext Amount
SECTION: 0001	(ASPHALT REI	PAIR (MANUAL) (ΓN				
0005 0339 1 MISCELLANEOUS ASPHALT PA	10.000 AVEMENT TN	75,00000	750.00	1,00000	10.00	250,00000	2,500.00
0010 0515 1 1 PIPE HANDRAIL - GUIDERAIL,	25.000 STEEL LF	20,00000	500.00	145.95000	3,648.75	200.00000	5,000.00
0015 0515 1 2 PIPE HANDRAIL - GUIDERAIL, ALUMINUM	25.000 LF	75.00000	1,875.00	54.08000	1,352.00	100.00000	2,500.00
0020 0515 2111 PEDESTRIAN / BICYCLE RAILIN 42" TYPE 1	25.000 NG, NS, LF	190.00000	4,750.00	126.88000	3,172.00	200.00000	5,000.00



Page 2 of 17

Florida Department of Transportation



Tabulation of Bids

Letting:	: 04251003	October 03, 20	25 Ca l	l Order: 004		Contract:	E4Y44-R0	
	No / Item ID Ali Description	ternate Quantity Units	(1) COMPLET IMPROVE		(2) SOUTHEA GUARD	RAIL &		AGTER CTION, INC.
	cates item is bid as Lum		Unit Price	Ext Amount	ATTENUAT Unit Price	FORS, LLC Ext Amount	Unit Price	Ext Amount
	SECTION: 0001	(ASPHALT REI	PAIR (MANUAL) (TN				
	0515 4 1 RAIL, SINGLE RAIL	25.000 LF	100.00000	2,500.00	34.66000	866.50	95.00000	2,375.00
	0515 4 2 RAIL, DOUBLE RAIL	25.000 LF	200.00000	5,000.00	68.63000	1,715.75	165.00000	4,125.00
SPECIAL STEEL PO	0536 7 2 . GUARDRAIL POST- OST FOR CONCRET URE MOUNT		250.00000	1,250.00	250.00000	1,250.00	200.00000	1,000.00
	0536 73 RAIL REMOVAL	50.000 LF	10.00000	500.00	2.50000	125.00	1.00000	50.00
GUARDR	0536 85 20 RAIL END TREATMEN G ANCHORAGE	1.000 NT- EA	1,500.00000	1,500.00	1,000.00000	1,000.00	1,500.00000	1,500.00
GUARDR	0536 85 24 RAIL END TREATMEN EL APPROACH TERM		2,500.00000	22,500.00	3,500.00000	31,500.00	3,400.00000	30,600.00
	0536 85 26 RAIL END TREATMEN	1.000 NT- TYPE EA	1,500.00000	1,500.00	1,000.00000	1,000.00	100.00000	100.00
GUARDR	0536 85 27 RAIL END TREATMEN FACE APPROACH T		1.00000	1.00	3,000.00000	3,000.00	12,000.00000	12,000.00





Tabulation of Bids

Page 3 of 17

Letting	g : 04	1251003	October 03, 20	25 Ca	II Order: 004		Contract:	E4Y44-R0	
	No / Item ID Description	Alternate	Quantity Units	(1) COMPLET IMPROVE		(2) SOUTHEA GUARD	RAIL &		LAGTER CTION, INC.
	licates item is bi	d as Lump Sum		Unit Price	Ext Amount	ATTENUAT Unit Price	TORS, LLC Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(ASPHALT REI	PAIR (MANUAL) (TN				
0065 GUARD	0538 1 RAIL RESET		50.000 LF	10.00000	500.00	15.00000	750.00	12.00000	600.00
0070 FENCIN	0550 10110 G, TYPE A, 0.	0-5.0', STAND <i>A</i>	100.000 ARD LF	10.00000	1,000.00	15.00000	1,500.00	10.00000	1,000.00
	0550 10118 IG, TYPE A, 0. ARD, RESET E	0-5.0', TYPE A EXISTING	100.000 LF	0.10000	10.00	2.00000	200.00	2.00000	200.00
0080 FENCIN	0550 10220 G, TYPE B, 5.	1-6.0', STAND <i>A</i>	2,000.000 ARD LF	17.00000	34,000.00	17.00000	34,000.00	25.00000	50,000.00
0085 FENCIN WIRE A		1-6.0', W/ BARI	100.000 3 LF	1.00000	100.00	19.00000	1,900.00	18.00000	1,800.00
0090 FENCIN COATIN		1-6.0, W/ V I NYI	300.000 _ LF	20.00000	6,000.00	13.00000	3,900.00	20.00000	6,000.00
0095 FENCIN EXISTIN	0550 10228 IG, TYPE B, 5. IG	1-6.0, RESET	100.000 LF	1.00000	100.00	11.00000	1,100.00	5.00000	500.00
0100 FENCE 12.0' OP		B, SINGLE, 6.1	1.000 - EA	1.00000	1.00	1,000.00000	1,000.00	1,200.00000	1,200.00
0105 FENCE 12.0' OP		B, DOUBLE, 6.′	1.000 I- EA	1,000.00000	1,000.00	1,300.00000	1,300.00	1,450.00000	1,450.00



Page 4 of 17

Florida Department of Transportation



Tabulation of Bids

Letting	g : 04	4251003 (October 03, 202	25 Ca l	II Order: 004		Contract:	E4Y44-R0	
	No / Item ID	Alternate	Quantity Units	(1) COMPLET IMPROVE		(2) SOUTHEA GUARD	RAIL &		LAGTER CTION, INC.
	dicates item is bi	d as Lump Sum		Unit Price	Ext Amount	ATTENUAT Unit Price	TORS, LLC Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(ASPHALT REF	PAIR (MANUAL) (TN				
	0550 60236 GATE, TYPE G/CANTILEVE NG	•	1.000 EA	1,000.00000	1,000.00	1,500.00000	1,500.00	2,700.00000	2,700.00
	0705 11 6 ATOR, REPLA STING BARRII	ACE DELINEATO ER	500.000 OR EA	12.00000	6,000.00	10.00000	5,000.00	30.00000	15,000.00
0120 MOBILI RESPO	E101 72 ZATION (EME NSE)	RGENCY	3.000 EA	300.00000	900.00	500.00000	1,500.00	600.00000	1,800.00
	E536 3141 PRAIL STANDA CE) (SHOP BI		500.000 LF	35.00000	17,500.00	17.00000	8,500.00	25.00000	12,500.00
	E536 3142 DRAIL STANDA ACE) (0' - 50')	ARD PANEL	1,000.000 LF	14.00000	14,000.00	15.00000	15,000.00	20.00000	20,000.00
	E536 3143 PRAIL STANDA CE) (51' - 200'		500.000 LF	20.00000	10,000.00	15.00000	7,500.00	20.00000	10,000.00
	E536 3144 DRAIL STANDA ACE) (> 200')	ARD PANEL	400.000 LF	10.00000	4,000.00	15.00000	6,000.00	20.00000	8,000.00
0145 GUARD (0' - 50')		BEAM (REPLAC	100.000 EE) LF	30.00000	3,000.00	25.00000	2,500.00	35.00000	3,500.00





Tabulation of Bids

Page 5 of 17

Letting	: 042	251003 C	October 03, 20)25 Ca	II Order: 004		Contract:	E4Y44-R0	
	No / Item ID Description	Alternate	Quantity Units	(1) COMPLET		GUARD	ST HIGHWAY DRAIL &		LAGTER CTION, INC.
	cates item is bid	as Lump Sum		Unit Price	Ext Amount	ATTENUA' Unit Price	TORS, LLC Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(ASPHALT RE	PAIR (MANUAL) (TN				
	E536 3540 RAIL (PIPE RA	IL) (REPLACE)	50.000 LF	15.00000	750.00	20.00000	1,000.00	21.00000	1,050.00
	E536 5 1 EAM (TERMIN	NAL CONNECT	1.000 OR) EA	100.00000	100.00	250.00000	250.00	250.00000	250.00
	E536 5 3 EAM (TRANSI	TION SECTION	1.000 N) EA	100.00000	100.00	250.00000	250.00	500.00000	500.00
END ANG	E536 6414 CHORAGE AS RT-350/8)	SEM (REPLAC	1.000 E) EA	1,000.00000	1,000.00	2,000.00000	2,000.00	2,900.00000	2,900.00
GUARDR	E536 12604 RAIL REPAIRS POST IN CONG		15.000 EA	85.00000	1,275.00	50.00000	750.00	65.00000	975.00
GUARDR	E536 12606 RAIL REPAIRS POST IN SOIL		40.000 EA	85.00000	3,400.00	100.00000	4,000.00	58.00000	2,320.00
GUARDR	E536 12609 RAIL REPAIRS POST IN SOIL		50.000 EA	85.00000	4,250.00	100.00000	5,000.00	100.00000	5,000.00
GUARDR		OFFSET BLOCI	250.000 EA K)	15.00000	3,750.00	14.00000	3,500.00	20.00000	5,000.00
	E536 15 LANEOUS GU/ NANCE	ARDRAIL	5,000.000 LF	2.50000	12,500.00	1.00000	5,000.00	1.00000	5,000.00





Tabulation of Bids

Page 6 of 17

Letting	g: 04	4251003	October 03, 20	25 Cal	II Order: 004		Contract:	E4Y44-R0	
	No / Item ID Description	Alternate	Quantity Units	(1) COMPLET IMPROVE		(2) SOUTHEAS GUARD	RAIL &		AGTER CTION, INC.
	dicates item is bi	d as Lump Sum	515	Unit Price	Ext Amount	ATTENUAT Unit Price	ORS, LLC Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(ASPHALT REI	PAIR (MANUAL) (TN				
	RNISH & INST	SSEMBLY FLE ALL, FIRST PC		100.00000	100.00	100.00000	100.00	150.00000	150.00
	E536301501 ICHOR ASSEN DEND SECT)	M TYPE II (REF	1.000 PL EA	50.00000	50.00	100.00000	100.00	100.00000	100.00
	E536301502 ICHOR ASSEN END SECT)	M TYPE II (REF	1.000 PL EA	120.00000	120.00	100.00000	100.00	100.00000	100.00
	E536301508 ICHOR ASSEN BREAK POS	M TYPE II (REF T)	2.000 PL EA	85.00000	170.00	85.00000	170.00	100.00000	200.00
	E536308511 ICHOR ASSEN RAIL BEAM)	M SRT-350 (RE	2.000 PL EA	350.00000	700.00	85.00000	170.00	350.00000	700.00
	E536314505 ICHOR ASSEN BRK POST)	M SRT-350/8 (F	3.000 REPL EA	85.00000	255.00	85.00000	255.00	80.00000	240.00
	E536314507 ICHOR ASSEN R END SECT)	M SRT-350/8 (F	1.000 REPL EA	120.00000	120.00	600.00000	600.00	100.00000	100.00
	E536314510 ICHOR ASSEM INE POST)	И SRT-350/8 (F	3.000 REPL EA	85.00000	255.00	85.00000	255.00	200.00000	600.00



Page 7 of 17

Florida Department of Transportation



Tabulation of Bids

Letting	g : 04	251003	October 03, 20	25 Ca	II Order: 004		Contract:	E4Y44-R0	
	No / Item ID Description	Alternate	Quantity Units	(1) COMPLET IMPROVE		(2) SOUTHEA GUARD	RAIL &		LAGTER CTION, INC.
	dicates item is bid	as Lump Sum	56	Unit Price	Ext Amount	ATTENUAT Unit Price	TORS, LLC Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(ASPHALT REI	PAIR (MANUAL) (TN				
	E544 8 1 CUSHION STA DIC INSPECTION		2.000 EA	75.00000	150.00	1,000.00000	2,000.00	250.00000	500.00
	E544 8 2 CUSHION STA I, ADJ MAINTAI		27.000 NT EA	50.00000	1,350.00	200.00000	5,400.00	400.00000	10,800.00
0245 CRASH	E544 76 1 CUSHION (RE	ESET)	5.000 EA	150.00000	750.00	250.00000	1,250.00	300.00000	1,500.00
0250 CRASH	E544 76 2 CUSHION (CL	EAN & INSPE	27.000 CT) EA	75.00000	2,025.00	100.00000	2,700.00	200.00000	5,400.00
	E544031001 JATOR (QUAD ER PANEL)	GUARD) F&I	3.000 EA	00000.008	2,400.00	1,000.00000	3,000.00	1,000.00000	3,000.00
0260 ATTENU (DIAPHI	E544031020 JATOR (QUAD RAM)	GUARD) F&I	1.000 EA	1,000.00000	1,000.00	2,000.00000	2,000.00	3,000.00000	3,000.00
	E544031039 JATOR (QUAD RIDGE ASSEME		9.000 EA	1,350.00000	12,150.00	1,500.00000	13,500.00	1,500.00000	13,500.00
	E544031040 JATOR (QUAD ASSEMBLY)	GUARD) F&I	9.000 EA	1,000.00000	9,000.00	1,300.00000	11,700.00	1,500.00000	13,500.00
0275 FENCE	E550 6221 POST BRACE	(TYPE B) (6')	2.000 EA	10.00000	20.00	50.00000	100.00	100.00000	200.00





Tabulation of Bids

Page 8 of 17

Letting	: 04251003	October 03, 20	25 Ca	ll Order: 004		Contract:	E4Y44-R0	
	No / Item ID Alterna Description	ite Quantity Units	(1) COMPLET IMPROVE		(2) SOUTHEAS GUARD	RAIL &		LAGTER CTION, INC.
	cates item is bid as Lump Sum		Unit Price	Ext Amount	ATTENUAT Unit Price	FORS, LLC Ext Amount	Unit Price	Ext Amount
	SECTION: 0001	(ASPHALT RE	PAIR (MANUAL) (TN				
	E550 6222 POST LINE (TYPE B) (6')	35.000 EA	60.00000	2,100.00	60.00000	2,100.00	75.00000	2,625.00
	E550 6224 POST PULL (TYPE B) (6')	2.000 EA	300.00000	600.00	250.00000	500.00	325.00000	650.00
FENCE N	E550 7222 MAINTENANCE (TYPE B) FABRIC) (6')	200.000 LF	5.00000	1,000.00	12.00000	2,400.00	12.00000	2,400.00
	E550 32 30 CORNER POST ASSEMBI) (6')	2.000 LY EA	300.00000	600.00	100.00000	200.00	500.00000	1,000.00
0300	E550 80	1.000	250.00000	250.00	1.00000	1.00	750.00000	750.00
FENCE G	GATE- REPAIR EXISTING	EA						
	0001 ASPHALT REPAIR (MANUAL) (TN)	Section Totals:		\$204,027.00		\$212,141.00		\$287,010.00
	Contract C	Grand Totals:		\$204,027.00		\$212,141.00		287,010.00





Tabulation of Bids

Page 9 of 17

Letting: 04251003 Octo	ber 03, 20	25 Call	Order: 004		Contract:	E4Y44-R0	
Line No / Item ID Alternate Item Description	Quantity Units	(4) HIGHSTYLE E & CONSTRUCTION	ON SERVICES				
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (AS	PHALT RE	PAIR (MANUAL) (T	N				
0005 0339 1 MISCELLANEOUS ASPHALT PAVEMENT	10.000 TN	278,00000	2,780.00				
0010 0515 1 1 PIPE HANDRAIL - GUIDERAIL, STEEL	25.000 LF	150.00000	3,750.00				
0015 0515 1 2 PIPE HANDRAIL - GUIDERAIL, ALUMINUM	25.000 LF	150.00000	3,750.00				
0020 0515 2111 PEDESTRIAN / BICYCLE RAILING, NS, 42" TYPE 1	25.000 LF	450.00000	11,250.00				
0025 0515 4 1 BULLET RAIL, SINGLE RAIL	25.000 LF	1,500.00000	37,500.00				
0030 0515 4 2 BULLET RAIL, DOUBLE RAIL	25.000 LF	1,500.00000	37,500.00				
0035 0536 7 2 SPECIAL GUARDRAIL POST- SPECIAL STEEL POST FOR CONCRETE STRUCTURE MOUNT	5.000 EA	375.00000	1,875.00				
0040 0536 73 GUARDRAIL REMOVAL	50.000 LF	10.00000	500.00				





Tabulation of Bids

Page 10 of 17

Letting:	042	251003	October 03, 20	25 Call	Order: 004		Contract:	E4Y44-R0	
	o / Item ID escription	Alternate	Quantity Units	(4) HIGHSTYLE E & CONSTRUCTION	ON SERVICES				
() indicat	ites item is bid	as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
S	SECTION:	0001	(ASPHALT REF	PAIR (MANUAL) (T	N .				
GUARDRA	536 85 20 IIL END TRE ANCHORAG		1.000 EA	1,800.00000	1,800.00				
GUARDRA	536 85 24 AIL END TRE APPROACH	ATMENT- H TERMINAL	9.000 EA	3,000.00000	27,000.00				
	536 85 26 IIL END TRE	ATMENT- TY	1.000 PE EA	3,000.00000	3,000.00				
GUARDRA	536 85 27 AL END TRE FACE APPRO	ATMENT- DACH TERM I I	1.000 EA NAL	9,000.00000	9,000.00				
0065 05 GUARDRA	538 1 NL RESET		50.000 LF	10.00000	500.00				
	550 10110 TYPE A, 0.0	-5.0', STAND/	100.000 ARD LF	15.00000	1,500.00				
FENCING,	550 10118 TYPE A, 0.0 D, RESET EX	-5.0', TYPE A XISTING	100.000 LF	15.00000	1,500.00				
	550 10220 TYPE B, 5.1	-6.0', STAND	2,000.000 ARD LF	20.00000	40,000.00				
		-6.0', W/ BAR	100.000 B LF	45.00000	4,500.00				





Tabulation of Bids

Page 11 of 17

Letting : 04251003 (October 03, 20	25 Cal	l Order: 004		Contract:	E4Y44-R0	
Line No / Item ID Alternate Item Description	Quantity Units	(4) HIGHSTYLE & CONSTRUCTI	ION SERVICES				
() indicates item is bid as Lump Sum		Unit Price LL	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	(ASPHALT REI	PAIR (MANUAL) (*	TN				
0090 0550 10222 FENCING, TYPE B, 5.1-6.0, W/ VINYL COATING	300.000 . LF	45.00000	13,500.00				
0095 0550 10228 FENCING, TYPE B, 5.1-6.0, RESET EXISTING	100.000 LF	20.00000	2,000.00				
0100 0550 60212 FENCE GATE, TYPE B, SINGLE, 6.1 12.0' OPENING	1.000 - EA	1,500.00000	1,500.00				
0105 0550 60222 FENCE GATE, TYPE B, DOUBLE, 6.1 12.0' OPENING	1.000 - EA	1,500.00000	1,500.00				
0110 0550 60236 FENCE GATE, TYPE B, SLIDING/CANTILEVER, 24.1-30' OPENING	1.000 EA	2,000.00000	2,000.00				
0115 0705 11 6 DELINEATOR, REPLACE DELINEATO ON EXISTING BARRIER	500.000 DR EA	15.00000	7,500.00				
0120 E101 72 MOBILIZATION (EMERGENCY RESPONSE)	3.000 EA	1,000.00000	3,000.00				
0125 E536 3141 GUARDRAIL STANDARD PANEL (REPLACE) (SHOP BENT)	500.000 LF	22.00000	11,000.00				





Tabulation of Bids

Page 12 of 17

Letting	j : 04251003	3 Octo	ober 03, 20	25 Cal l	Order: 004		Contract:	E4Y44-R0	
	No / Item ID All Description	ternate	Quantity Units	(4) HIGHSTYLE E & CONSTRUCTION	ON SERVICES				
() ind	icates item is bid as Lum	p Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION: 0001	(AS	PHALT RE	PAIR (MANUAL) (T	'N				
	E536 3142 RAIL STANDARD PAN CE) (0' - 50')		1,000.000 LF	20.00000	20,000.00				
	E536 3143 RAIL STANDARD PAN CE) (51' - 200')	NEL	500.000 LF	20.00000	10,000.00				
	E536 3144 RAIL STANDARD PAN CE) (> 200')	NEL	400.000 LF	20.00000	8,000.00				
0145 GUARDI (0' - 50')	E536 3242 RAIL THRIE BEAM (F	REPLACE)	100.000 LF	35.00000	3,500.00				
0150 GUARDI	E536 3540 RAIL (PIPE RAIL) (RE	PLACE)	50.000 LF	25.00000	1,250.00				
0155 THRIE B	E536 5 1 BEAM (TERMINAL CC	ONNECTOR	1.000 R) EA	200.00000	200.00				
0160 THRIE B	E536 5 3 BEAM (TRANSITION S	SECTION)	1.000 EA	350.00000	350.00				
	E536 6414 CHORAGE ASSEM (F RT-350/8)	REPLACE)	1.000 EA	2,500.00000	2,500.00				
	E536 12604 RAIL REPAIRS (REPL POST IN CONC.)	ACE)	15.000 EA	120.00000	1,800.00				





Tabulation of Bids

Page 13 of 17

Letting: 04251003 Oc	tober 03, 20	25 Cal	l Order: 004		Contract:	E4Y44-R0	
Line No / Item ID Alternate Item Description	Quantity Units	(4) HIGHSTYLE & CONSTRUCTI	ON SERVICES				
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (A	SPHALT REF	PAIR (MANUAL) (1	ΓN				
0175 E536 12606 GUARDRAIL REPAIRS (REPLACE) (STEEL POST IN SOIL)	40.000 EA	100.00000	4,000.00				
0180 E536 12609 GUARDRAIL REPAIRS (REPLACE) (WOOD POST IN SOIL)	50.000 EA	100.00000	5,000.00				
0185 E536 12616 GUARDRAIL REPAIRS(REPLACE)(OFFSET BLOCK)	250.000 EA	12.00000	3,000.00				
0190 E536 15 MISCELLANEOUS GUARDRAIL MAINTENANCE	5,000.000 LF	5.00000	25,000.00				
0195 E536 21501 END ANCHORAGE ASSEMBLY FLEAT SP, FURNISH & INSTALL, FIRST POST UPPER	1.000 EA	3,000.00000	3,000.00				
0200 E536301501 END ANCHOR ASSEM TYPE II (REPL FLARED END SECT)	1.000 EA	700.00000	700.00				
0205 E536301502 END ANCHOR ASSEM TYPE II (REPL ROUND END SECT)	1.000 EA	2,500.00000	2,500.00				
0210 E536301508 END ANCHOR ASSEM TYPE II (REPL TIMBER BREAK POST)	2.000 EA	2,500.00000	5,000.00				





Tabulation of Bids

Page 14 of 17

Letting:	042	51003 O	ctober 03, 20	25 Cal l	Order: 004		Contract:	E4Y44-R0	
	/ Item ID escription	Alternate	Quantity Units	(4) HIGHSTYLE I	ON SERVICES				
() indicat	tes item is bid a	s Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
S	SECTION: 0	001 (ASPHALT RE	PAIR (MANUAL) (T	TN .				
		SRT-350 (REPI	2.000 _ EA	2,500.00000	5,000.00				
		SRT-350/8 (RE	3.000 PL EA	2,500.00000	7,500.00				
		6RT-350/8 (RE	1.000 PL EA	700.00000	700.00				
		6RT-350/8 (RE	3.000 PL EA	2,000.00000	6,000.00				
CRASH CU	544 8 1 JSHION STAN INSPECTION		2.000 EA	2,000.00000	4,000.00				
CRASH CU	544 8 2 JSHION STAN DJ MAINTAIN	NDARD MAINT)	27.000 EA	2,000.00000	54,000.00				
	544 76 1 JSHION (RES	SET)	5.000 EA	800.0000	4,000.00				
	544 76 2 JSHION (CLEA	AN & INSPECT	27.000 EA	2,000.00000	54,000.00				
	544031001 FOR (QUADG PANEL)	UARD) F&I	3.000 EA	1,500.00000	4,500.00				





Tabulation of Bids

Page 15 of 17

Letting	: 04	1251003	October 03, 20	25 Cal l	Order: 004		Contract:	E4Y44-R0	
	No / Item ID Description	Alternate	Quantity Units	(4) HIGHSTYLE E & CONSTRUCTION	ON SERVICES				
() indi	cates item is bid	d as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(ASPHALT REF	PAIR (MANUAL) (T	'N				
)GUARD) F&I	1.000 EA	2,600.00000	2,600.00				
ATTENU	E544031039 ATOR (QUAE DGE ASSEM	OGUARD) F&I BLY)	9.000 EA	1,600.00000	14,400.00				
ATTENU	E544031040 ATOR (QUAD SSEMBLY))GUARD) F&I	9.000 EA	1,600.00000	14,400.00				
	E550 6221 POST BRACE	(TYPE B) (6')	2.000 EA	200.00000	400.00				
	E550 6222 POST LINE (T	YPE B) (6')	35.000 EA	100.00000	3,500.00				
	E550 6224 POST PULL (1	ГҮРЕ В) (6')	2.000 EA	200.00000	400.00				
FENCE N	E550 7222 MAINTENANC FABRIC) (6')	CE (TYPE B)	200,000 LF	200.00000	40,000.00				
		ST ASSEMBL`	2.000 Y EA	200.00000	400.00				
	E550 80 GATE- REPAI	R EXISTING	1.000 EA	500.00000	500.00				





Tabulation of Bids

Page 16 of 17

Letting: 04251003 October 03, 2025 **Call Order:** 004 **Contract:** E4Y44-R0

Line No / Item ID Alternate Quantity
Item Description
() indicates item is bid as Lump Sum

(4) HIGHSTYLE ENGINEERING & CONSTRUCTION SERVICES

Units

LLC
Ext Amount Unit Price Ext Amount Unit Price Ext Amount

SECTION: 0001 (ASPHALT REPAIR (MANUAL) (TN

0001 ASPHALT REPAIR Section Totals: \$541,805.00

(MANUAL) (TN)

Contract Grand Totals: \$541,805.00



10/03/2025

Tabulation of Bids

Page 17 of 17

Letting: 04251003 October 03, 2025 **Call Order:** 004 **Contract:** E4Y44-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.